
Шпак С.И. преподаватель физики КГБ ПОУ « КМТ», г. Владивосток 
 

Тема: ЭДС самоиндукция 

№ 1 

№ ЭДС 

 

Число 

витков 

N 

Индуктивность 

L 

Изменение 

силы тока 

ΔI 

Интервал 

времени 

Δt 

1 ? 120 2,4мГн −0,2 А 3,3мс 

Дано:                           

𝑁 = 120 

𝐿 = 2,4мГн    

∆𝐼 = −0,2 А 

∆𝑡 = 3,3мс   

Найти: 

 𝜀𝑖−? 

 

СИ 

 

2,4 ∙ 10−3Гн 

 

3,3 ∙ 10−3с 

Решение: 

𝜀𝑖 = −
𝑁𝐿∆𝐼

∆𝑡
 

[𝜀𝑖] =
Гн ∙ А

с
=

В ∙ с ∙ А

А ∙ с
= В 

𝜀𝑖 = −
120 ∙ 2,4 ∙ 10−3 ∙ (−0,2)

3,3 ∙ 10−3
= 17,45(В) 

 Ответ ∶ 𝜀𝑖 = 17,45(В) 

№ 2 

№ ЭДС 

 

Число 

витков 

N 

Индуктивность 

L 

Изменение 

силы тока 

ΔI 

Интервал 

времени 

Δt 

2 29 В ? 5,9мГн −0,3 А 3,7 мс 

Дано:                           

 𝜀𝑖 = 29 В 

𝐿 = 5,9 мГн 

∆𝐼 = −0,3А 

∆𝑡 = 3,7мс 

Найти: 

𝑁−? 

 

СИ 

 

5,9 ∙ 10−3Гн 

3,7 ∙ 10−3с 

Решение: 

𝜀𝑖 = −
𝑁𝐿∆𝐼

∆𝑡
  => 𝜀𝑖∆𝑡 = −𝑁𝐿∆𝐼 => 𝑁 = −

𝜀𝑖∆𝑡

𝐿∆𝐼
 

[𝑁] =
В ∙ с

Гн ∙ А
=

В ∙ с ∙ А

В ∙ с ∙ А
= 1 

𝑁 = −
29 ∙ 5,9 ∙ 10−3

3,7 ∙ 10−3 ∙ (−0,3)
= 154,14 ≈ 154  

Ответ: 𝑁 ≈ 154      

 

№ 3 

№ ЭДС 

 

Число 

витков 

N 

Индуктивность 

L 

Изменение 

силы тока 

ΔI 

Интервал 

времени 

Δt 

3 24В 140 ? −0,2 А 3,4мс 

Дано:                           

 𝜀𝑖 = 24 В 

𝑁 = 140 

∆𝐼 = −0,2А 

∆𝑡 = 3,4мс    

Найти: 

𝐿−? 

 

СИ 

 

 

 

3,4 ∙ 10−3с 

Решение: 

𝜀𝑖 = −
𝑁𝐿∆𝐼

∆𝑡
    =>  𝜀𝑖∆𝑡 = −𝑁𝐿∆𝐼     => 𝐿 = −

𝜀𝑖∆𝑡

𝑁∆𝐼
 

[𝐿] =
В ∙ с

А
= Гн    

𝐿 = −
24 ∙ 3,4 ∙ 10−3

140 ∙ (−0,2)
= 2,91 ∙ 10−3(Гн) 

Ответ:  𝐿 = 2,91 ∙ 10−3(Гн) 
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№ 4 

№ ЭДС 

 

Число 

витков 

N 

Индуктивность 

L 

Изменение 

силы тока 

ΔI 

Интервал 

времени 

Δt 

4 22 В 135 2,4мГн ? 3,6мс 

Дано:                           

 𝜀𝑖 = 22 В 

𝑁 = 135 

𝐿 = 2,4 мГн  

∆𝑡 = 3,6мс 

Найти: 

∆𝐼−? 

 

СИ 

 

 

2,4 ∙ 10−3Гн 

3,6 ∙ 10−3с 

Решение: 

𝜀𝑖 = −
𝑁𝐿∆𝐼

∆𝑡
    =>  𝜀𝑖∆𝑡 = −𝑁𝐿∆𝐼     => ∆𝐼 = −

𝜀𝑖∆𝑡

𝑁𝐿
 

[∆𝐼] =
В ∙ с

Гн
=

В ∙ с ∙ А

В ∙ с
= А 

∆𝐼 = −
22 ∙ 3,6 ∙ 10−3

135 ∙ 2,4 ∙ 10−3
= −0,24(А) 

Ответ:  ∆𝐼 = −0,24(А) 

 

№ 5 

№ ЭДС 

 

Число 

витков 

N 

Индуктивность 

L 

Изменение 

силы тока 

ΔI 

Интервал 

времени 

Δt 

5 23 В 120 2,6 мГн −0,4 А ? 

Дано:                           

 𝜀𝑖 = 23 В 

𝑁 = 120 

𝐿 = 2,6 мГн  

∆𝐼 = −0,2 А 

Найти: 

∆𝑡−? 

 

СИ 

 

 

2,6 ∙ 10−3Гн 

Решение: 

𝜀𝑖 = −
𝑁𝐿∆𝐼

∆𝑡
    =>  𝜀𝑖∆𝑡 = −𝑁𝐿∆𝐼     => ∆𝑡 = −

𝑁𝐿∆𝐼

𝜀𝑖
 

[∆𝑡] =
Гн ∙ А

В
=

В ∙ с ∙ А

А ∙ В
= с 

  ∆𝑡 = −
120 ∙ 2,6 ∙ 10−3(−0,2)

23
= 2,71 ∙ 10−3(с) 

Ответ: ∆𝑡 = 2,71 ∙ 10−3(с) 

 

 


